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LAV BEXy 21— (REERB) 19—)LB%| EHEYRY BORTRE
KE+YILEY>Y :40—60mg m D1, 8 (£KT)
CAF 7»¢n®59»:500mg/ﬁ/01,8(15 ») 28H EEYRY -
IVKEXH>:400—600mg. m D1, 8 (30%)
IEILESY:100mg/m D1 (£KHT) = _
CE (100) IV REHS :600meg /M D1 (30%) 21H ‘mEURY
IEILESY:60mg./ m /D1 (£2FT) = _
CE (60) IV REHS :  600meg./mM /D1 (30%) 21H ‘mEURY
IFILEYY : 60mg/m D1 (£T)
CEF 204952 500meg/ m D1 (30%) 28H FEEYRY -
IVKXH2PHR: 100mg/body.D1—14
AYrLx*E—F:40mg m D1, 8 (£HT)
CMF I)ILAaHSU)L: 500meg/m D1, 8 (30%) 28H hEEYRY -
IVKEHUPHR: 100mgbody.D1—14
AYrLxXtE—F:40mg /M D1 (£fT)
CMF & IILAAHYSTIL:500mg./m D1 (30%) 21H hEEYRY -
IVFEEXHY :600mg/ m/ D1 (60%)
Kz4%+tJ)L: 75mg./ M D1 (60%) - _
bC IV R%49>:600mg, /M /D1 (30%) 21H PEEYRY
DOC (60) Kt4%+t): 60mg m D1 (60%) 218 BEYRY -
DOC (75) K4 F%+t)L: 75mg m D1 (60%) 218 BEJRY —
IEIESY : 90mg m D1 (£fT)
Dose—Dence CE IVKFEXEH2:600mg m D1 (30%) 148 =EEYRY -
C—5XH% 3. 6mg./ body. D3 (ET:F)
_ KO JAFEIL: 175meg./ D1 (M) i 3>
Dose—Dence PTX 5 5248.3 6meg /body/D3 (EF:) 148 BEURY LRA I UEES R
IFJIEYY: 100mg/m D1 (£FT)
FEC (100) IILAAHYSUIL: 500mg./m D1 (15%) 218 BEURY -
IVKFXEH2:500mg m D1 (30%)
GEM FLUREY:1250mg m D1, 8 (30%) 218 BEYRY —
Ke4F%+)L: 75mg m D1 (60%)
AILRTSFo: AUCB. D1 (60%)
TCbH FSRYXTT: (ME) 8mg kg D1 (90%) 21H (iﬁgééz) —
(2EBLUE) 6mg kg D1 (90%) == -
631—X
VNB O+f9X:25mg m D1, 8 (£T) 218 =/INEURD —
week | yDC (20) Kz4%+tJ)L: 20mg m D1, 8, 15 (60%) 28H BEYRY -
week | yPTX NRZYBX+E)L: 70—100mg. D1, 8, 15 (60%) 28H BEYRY LRSI SR




LAV BEIXFTa1—)L (BE5ERB) 17—)LB%| EHHEYRY BOFTRE
week |l y7IS5SxHY 7I75%H>:100mg m D1, 8, 15 (30%) 28H =INEYRY -
NN N 1)BXE): 90mg D1, 8 15 (60%) = =~
FINRFU+PTX FRNRFY - 10me ke /D1, 15 (60~90%) 28H BEYRY LRB S U5
7I5xY9Y 7IS5XHL:260mg/ m D1 (30%) 218 BEYRY -
T N—Y IVN—Y:5. 4dmg/ kg D1 (30% (FEIOO%H) ) 218 hEEYRY -
vl N HDEHAL45:3. 6mg kg D1 (30~90%) 21H BEYRY —
— - . St k)Y :840mg/body D1, 15 (30~60%) - _
TRV TITIRY Y 7I5%4>:100mg. M D1, 8, 15 (30%) 28H BEYRY
) ey FSRAYZXTT: (WE) 4mg kg D1 (90%) =0 _
FSRAYX<D (2EBLE) 2ms kg, D1 (60%) 78 =INEYRY
A L = o ) ey FSRAYZXTT: (YE) 8mg kg D1 (90%) = 1\ Re _
SEB/LIRAYANT (2EBLKE) 6me kg /D1 (90%) 218 BNEYARY
NRZYBX+E)L:70—100mg. D1, 8, 15 (60%)
FSAYXTT+PTX FSAYXTT:2mg kg D1, 8, 15 (60%) 28H BEYJRY LRAZ ISR
(#¥E) 4mg kg
IN—2x42: (PE) 840mg " body. D1 (60%)
o ss oy = (2EIBLIEE) 420mg kg /D1 (30%) = _
N=Pz3++IRYANT FSRYZXTT: (FE) 8meg kg D1 (90%) 21H RINERY
(2EIBLE) 6mg kg D1 (90%)
N—Txh: (WE) 840mg. body. D1 (60%)
(2[EBLE) 420mg kg D1 (30%)
NR—Cz8+FS5SAYAXTT+DOC FSRAYX<T: (WE) 8mg kg D1 (90%) 21H BEYRY —
(2EBLE) 6mg kg D1 (90%)
Ktax+t)l: 75mg. m D1 (60%)
NSYT NSY1TY:4dmg/m D1, 8 (£HT) 218 BEYRY —




